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Welcome to AP Calculus BC!
For your summer assignment you will complete the attached Calculus Readiness Test to be handed in the first day of school.  No calculator should be used on this test.  THIS IS FOR A COMPLETION GRADE ONLY!

Complete ALL problems on a separate sheet of paper and be sure to be neat and label all of your work.  In the directions you are asked to check your answers for each question.  After completing the test and checking your answers, please join our Khan Academy Class.  https://www.khanacademy.org/join/Y6H3N6FJ
You will find an assignment (I can’t assign it until I have some students in the class) that is entitled “Preparing for AP Calculus”.  Here you will find links to most of the topics listed after the answers from the test. (and if the topic is not there you can search for it on Khan Academy)  Follow the links to review these topics if they are deficiencies for you based on your test results.  Also, scroll to the bottom of the page and watch the short interview segment with Ben Eater.  *One small deficiency can cause many problems for you when learning calculus.  ALGEBRA IS KING!

Please email me with any questions @Michelle_Holloway@mcpsmd.org.

Can’t wait to see you all in the Fall!!

Cheers!
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Find the equation of the line through the two points (5,3) and (~1,6).

Ay
D) y=-2x+4 E) None of these.

If f(x)=5x~2, the inverse function is:

A) S
E) None of these.

%uz Q) [

x7=y™ is equivalent to:

2
p) X=X

2
A (x-y)* B2 )
) (x-3) ) ) oy e

‘The expression x*y - xy* may be factored as:
A) @=)E =)+ B ay(x-y)

) y=2x+8

D) S (x)=2x-5

E) None of these.

©) xy(x = y)x* +y+y%)
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9. If f(x)=x"and g(x) = x"+2x, what is the compostion (fog)(x)?

A) ¥ +2x B) (f+2x)’ C) x* +4x° E) None of these.
10, Solve log,,(x~1)=2 forx.
A) 1025 B)21 o101 D)99 E) None of these.
‘The function / (x) = cotx is not defined for:
Ax=0 n),:% c),:% D)x:% E) None of these.
12, In the right triangle shown, a =8 and ¢ = 10, find tan A
s 3 3
N B) = O c
) 3 ) 3 ) n
ni E) None of these.
3 B
a
S S U
13, One solution to the equation = is:
Sx+15 x+3
A)3 B)1 -3 D)245+2 E) None of these.
e
14 The expression ———— simplifies to: (Ignore the domain change when simplified )
—+b?
a
1+a* b +a’ b a
A T B) O D) 3= E) None of these.
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19, The exact value of cos%x is

3 V3 1 1
7 B-7 O3 D=3

A) 5

20. The expression log, 2x — 2log, y+log, = is equivalent to:

2xz
A log,[y%] B) log{;] ©) log, (x-y*
E) None of these.

E) None of these.
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Scroll Down for Correct Answers
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Correct Solutions:

DA 2B 3)A 4HD 5HD 6E 7C 8B 9B 10)C
DA 12)D I)E 14D 15B 1B 1D 18C 19D 20)A

Question  Related Topics

1 Basic definitions of trigonometric functions
2) Laws of exponents

3) Exponential functions, laws of exponents

4) Functions, solution of inequalities

3) Relationship between radians and degrees

6) Linear Equations

7 Quadratic Equations

8) Exponents, roots

9) Composition of functions
10) Converting logarithmic equations to exponential equations
1) Basic definitions of trigonometric functions and their domains
12) Triangle trigonometry, Pythagorean Theorem
13) Solutions of Rational Equations
14) Simplifying compound fractions
15) Slope, Equations of a line
16) Finding inverses of functions.
17 Exponents, Adding fractions
18) Factoring, Difference of cubes,( should lso know difference of squares and sum ofcubes)
19) Evaluation of trigonometric functions.

20) Laws of logarithms
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Directions: You should plan on finishing the exam in under 1 hour. Part of the needs of Calculus 1 are not
only to know certain algebra and trigonometry topics, but be able to fairly quickly have them at your fingertips.
‘The thread of calculus can easily be lost if you are struggling with the necessary background mathematics. Once
you have taken your practice test, check your answers with the correct ones given on the reverse side of this
sheet.
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If 0" < x <90, then tanxcosx simplifies to:

A) sinx B) cosx ©) cotx D) secx E) csex
sy
“The expression X2 ) simplifies to:
<y
s N
N DEs o D) xy E) None of these.
i ¥ ¥

If /(x) =2%, and a and b are any positive numbers, then /(a-+b) is equivalent to:

Nf@- 1) B L “': O @) D) f@+fG)  E)Noneofthese

S

‘The domain of g (x)= ng* is:
=
A) [3,) B) (3,) ©) (-==.3] D) (~==,3) E) None of these.
‘The angle 150 in radian measure is given by:

N3z B ©) 751 D) 3% E) None of these.
12 5n 6
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6. Solve forx: 64x-32=44x+12

A)x=-22  B)x=2 Ox=-1 D)x=11
7. One solution to the equation 3x* +x~5=0 is:
" —1+i/61 B) 1+if61 o —1+/61 D) 1-+/61
6 6 6 6
8. What s the number (.01) % equal to?
A) .01 B) 10 ©) 1000 D).l

E) None of these.

E) None of these.

E) 100
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D) (x*y - xy*)* E) None of these.




